
 

9 f o 70 f t 9.8T

f t f 9.8T dt

f t 4 at c

f o 70 O t C 70

f t 4.9 t't 70

when C 3 f z 4.9 35 70

25.9 m

11 y 5 2x K2 y 2

it
a 2 5 2x of

K2 2x 3 0

Get 1 x 3 to

2 1 or x 3

Af 1,2 B 3,2

b Area under curve f 5t2x E doe

5 5 31
541 5 5C Dtc 5

Mixed Exercise 13



15 9 9 5 titty
15 t 5 l f
183

Area under line 3 1 2 8

Region between line and curve

183 8 10 5 units

13 y x Gsi tax

a x x 35 x x2 Gata

x 6 2 tax

y x x 3
2

Y o x o or K 3 0
x 3

A fo

b y K Gsi tax

dy
id 3 2 12 9

At stpt dgDT to 3 2 12 1 9 0

K2 Ax 1 3 0



X 1 x 3 O
B

µ 2 1 or a 3
A Max at B Min at A

when x 1 y 13 6115 91,1 4

B 1,4

R y de 14 3 6 2 9 c doc

tazI
If 265 1135 o o to

8 54 t 81
6.75


